#7507 February "Mimosa"

[How to read the Symbol, Embroidery thread Comparison table] How to stitch Cross-stitch

-Stitch tf) use
B Cross stitch (All 3 strands)

(Number) Strand=Number of threads when stitching

#25 floss: 6 thin threads are twisted.

[es] ss= new | :::‘sti’;hesr“ecmed aumberfiom it Stitch so that the intersecting threads are oriented in the same direction.
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L Color name — color name ~Good The threads that overlap on top are aligned.
Symbol Thread number to use ]

@ Please be careful about the number of threads used.
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@ Cross-stitch with the specified number of stitches listed. KA \_] N \‘" -*'i ‘\"7
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The directions of the threads that overlap

@ Fold the coth in 4 to determine the center. Not good op top are not aligned

The beginning of stitch is from the middle of the pattern.
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[ Symbol, Embroidery thread Comparison Table —_]

B Cross stitch (All stitches are 3 strands)

When stitching diagonally
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V|| 244 ; 502 | Yellow 1 - out (out: Put out the needle)

a5 L(lig:;teireen 5 e ol @ in  (in: Insert the needle)
246 | Dark green 523 | Dark yellow

303 | Aqua 582  |astringent yellow

D4 | 304 | Blue [E]| 744 | Brown

[+]| BO1 |Lightyellow

*The color of the grid diagram and the color of the actual embroidery thread are
different. Please refer to the image on the cover.

B List of embroidery thread material details

RES (Em/'lb‘t);& ?m/lpiece_ RES (am/m\vz);& %i’ﬁ/lpiece
244 — 502 1 skein o
245 1 skein == 512 = 2
246 — 2 523 — 2
303 = 3 582 = 3
304 — 2 744 - 3
501 s 4
e
" =) @n1n®) [[1m/1piece
Embroidery thread Total number T Eskein 24 |

@ Please make sure you have all threads listed before you start.



